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1 FUlITmHE=2 XMt e 4406201963 ****xk%77 4 8 % IKEE KE 2400
2 FUlITmHRE=2 XMt THEIk 4420001973**kkx*x%73 4 §755IKEE KE 2400
3 FUITmHRE=2 XKWt Al 4420001970%***%*70 4 §755IKEE KE 2400
4 FUlImHE=2 KXWt KRR 5% 4406201960%****%79 5 §755IKEE KE 3000
5 FUlITmHRE=2 XKWt ESE 4406201955%*****76 4 §7 55K KE 2400
6 FUTFHEZ 2 KGHH RX[E 7T 44200019 65%kkkkx1 1 5 H %K KB 3000
7 FUImHE=2 XH#FH RAFT = 44062019064 ¥+4**x78 5 87 55IKEE KE 3000
8 FUTmHE=2 XH#FH RR AR 4406201956*FF**xx7( 3 B 55IKEE KE 1800
9 FUTmHE=2 XH#FH RRESE 4420001963****%%79 5 8 %IKEE KHE 3000
10 FULTHE=2 XM+ RRERER 442000197 4*¥+k***99 1 87 55IKEE KE 600
11 FUTmHE=2 XH#FH RRHT &2 4406201956*+*k***76 3 87 55IKEE KE 1800
12 PUlITmHRE=2 XMt REE 4406201955%*k****61 2 §755IKEE KE 1200
13 FUlmHRE=2 KXWt kB4 4406201947**¥*x%%67 7 §755IKEE KE 4200
14 FUlITmHE=2 XMt MR 4406201969*****x74 1 §755IKEE KE 600
15 FUITmHRE=2 KXWt HIE 4406201960%*k****85 5 8 % IKEE KE 3000
16 FUUTHmREZZ2 XHiPE RX %< B 440620196 7*****x75 4 8 % IKEE KE 2400
17 FUFTHRE=Z2 XHiViN YN EN 4406201948**k***%93 3 §7 55K KE 1800
18 PR = 2 %A+ TR FRER 4404211965%K%k%*27 3 H%IKEE KB 1800
19 FlITHmE=2 %&FE+ A RRFHTHY 442000197 4% +**x**91 6 B 55IKEE KE 3600
20 FUlITHmE=2 %&FE+ TR R R, 4406201962**++**85 2 B 55IKEE KE 1200




21 RLHHE= 2 %A+ i 4406201942%*F4%8X 5 H %KEE KB 3000
22 FUITHHE= 2 %fE+EH RRET 3% 4406201963 *¥++**69 2 87 55IKEE KE 1200
23 RLHHE= 2 %A+ R E 4404211962 ¥F*%%40 3 H%KEE KB 1800
24 RLHHE= 2 %A+ RX B it 4420001982%¥k**%79 1 H%KEE KHE 600
25 PUITmE= 2 %E+HR RR 520 4406201954%**x*%72 4 B 55 IKEE KB 2400
26 FlFHE=2 %A+ RR 22K 4406201955%FF*¢*x*73 6 BB IKE KE 3600
27 FlFHE=2 %A+ KX [l #2 4406201968 +***x*95 4 B 5IKE KE 2400
28 RLLHHE= 2 %A+ Bfg= 4420001971 %k¥*k%x84 3 B 55 IKEE KB 1800
29 FlTHE=2 %A+ KX [ 12 4406201961 *¥4**x*78 4 B 5IKE KE 2400
30 PUITmE= 2 %EfE+HRA RX E] 1R 4406201953 **k**k%72 6 8 % IKEE KE 3600
31 FUITHHE= 2 %fE+EH KX [E R 4420001965 +F*x*%7X 4 B 55IKEE KE 2400
32 FUlmHEZ= 2 %A RX [El 58 4406201960 ++***73 5 87 55IKEE KE 3000
33 FUITHHE= 2 %fE+EH RRE%E 4406201967 kk¥k%77 4 H %KEE KHE 2400
34 FITHHE= 2 %fE+H eI 4404211959 x+++*24 4 B 55IKEE KE 2400
35 FUlmHE= 2 #EHHRA Y3 E=] 4420001965 +**x*xx77 4 87 55IKEE KE 2400
36 RLHHE= 2 %A+ RN 6 4406201963%kkkx74 5 H %K KB 3000
37 i E= 2 %R+ e 442000196 7*****%32 4 55 IKE KE 2400
38 FlFHE=2 %A+ RRIN ¥ 4406201962 F¥**xX77 4 B 5IKE KE 2400
39 FlFHE=2 %A+ NELD 4420001980%+***xx67 1 B 5IKE KE 600
40 FlFHE=2 %A+ RR=7 4420001980*+***x*gQ 1 B 5IKE KE 600
41 FUlmHE= 2 &R+ R R AE 4406201930%****%73 3 §755IKEE KE 1800
42 FlFHE=2 %A+ KK E 1 4406201965 FF***9X 4 B 5IKE KE 2400
43 PR = 2 %A+ TR EUN 4406201970%*k*%k%77 4 H %K KHE 2400
44 PR = 2 %A+ TR X 2 4406201968******78 4 H %IKEE KB 2400
45 FUmHEZ= 2 #EHIHRA Rk /D 2% 4406201969 ++***83 2 87 55IKEE KE 1200




46 FUITHHE= 2 %fE+EH BRR® 4406201958**++**69 3 B2 557K EE KE 1800
47 FUITHHE= 2 %fE+EH e 4406201951 *¥+44%68 3 B2 55IKEE KE 1800
48 FUTHHE= 2 %faE+H RRE R 4420001964*¥+4**75 2 B2 55K EE KE 1200
49 FUTHHE= 2 %faE+H KR 3Z i 4420001981 *¥+4**15 1 B2 557K EE KE 600
50 FlmHE= 2 &1+ RRHTIN 4420001972*¥%*x*x*19 2 B 5IKE KE 1200
51 PUITmE= 2 %E+R RRHT5E 4406201957**k*x*k%76 3 8 % IKEE KE 1800
52 PUITmE= 2 %fE+HR B 4420001989******68 2 8 % IKEE KE 1200
53 FlmHE= 2 &A1+ RR 7k F#7 440620194 7Fx¥¥4%76 4 87 %IKE KE 2400
54 FlTHE=2 %A+ kX A Bf 4406201971*x¥+4%86 1 87 %IKE KE 600
55 FUlImHE= 2 &R+ TS 4406201952*¥+4**92 1 87 %IKE KE 600
56 FUmHEZ= 2 #EHIHRA RRF 1R 440620193 7*¥+k***08 5 B 55IKEE KE 3000
57 PR = 2 %A+ TR RR E] 4 4420001964%kkkk%7 1 5 H %K AE 3000
58 FUITHHE= 2 %fE+EH REREE 4406201941 %k¥*kkx64 5 8 %IKEE KB 3000
59 FUmHEZ= 2 %A KK Y 4420001961 **¥+4%8X 2 B2 557K EE KE 1200
60 FUITHE= 2 %fE+HEH mE® 4406201939*¥++**63 6 B2 55K EE KE 3600
61 FITHHE= 2 %fE+H WEiE 452502197 2%****k%2X 3 B2 55 IKEE KHE 1800
62 Ul TFHE= 2Bk E R =NE 4406201950 kk*%k73 4 PR 7K EE KE 2400
63 FlFTFE=Z 28 EEZ =B 4406201967**k*xx%70 5 MR 7k e KE 3000
64 Pl TFHE= 2Bk E R =\ 4406201945%kkkx%k77 5 PR 7K EE KE 3000
65 FUTmHE=Z28IBEEZE =EIH 4406201948****xk%67 4 MR 7k e KE 2400
66 FULUTHmRER=Z A EZR EBE T 4406201942%*kFxk%64 4 MO8 7k e KE 2400
67 PULTHmRER=ZZ M EZR ‘22 8R 4406201949%*¥**%77 6 MO4R 7k e KE 3600
68 PR = 2 ATk ER BEX 4406201969*¥kx*%79 2 MO8 7k e KHE 1200
69 PR = 2 ATk ER BEX 4406201954*****%92 3 MO8 7k e it 1800
70 FUmHE=Z28IBEEZE B 4406201941 *¥+44%79 1 PO R 7k FE KE 600




71 FUTmHE=Z28IBEEZE 2R 4406201970%*k**%72 2 MRk EE KB 1200
72 FUmHE=Z28IBEEZE BYx 442000197 2%****%79 6 MRk EE KHE 3600
73 FUmHE=Z 28R ZE Z{h3Z 4406201960%***%*99 3 MRk EE it 1800
74 FUmHE=Z28IBE%ZE KK 4406201950 *¥¥4*76 4 U2} ES RE 2400
&t 264 158400




